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Name: _______________________
Chapter 53-Food Chains in the Chesapeake Bay
 Using the website http://www.chesapeakebay.net diagram a Chesapeake Bay food chain (4 levels in length) in the space below.  You should not use the example provided on this site.
(                                            (                                           (                                   

Answer the following questions in regard to the food chain you selected.

1)  Include the following labels (when applicable) in your food chain: producer, primary consumer, secondary consumer, herbivore, omnivore, carnivore, autotroph, and heterotroph.

2) Arrange the organisms from your food chain in a trophic pyramid.

3) [image: image2.jpg]


At which level in the trophic pyramid is the most energy available?  Which organisms occupy this level?

4) Hypothetically speaking, if humans in the Bay watershed wanted to feed the greatest number of people for an extended period of time, which organism in this food chain should we feed on?  Explain your answer.

5) Explain how the hunting of your top predator would directly affect your food chain.

6) Which level in the trophic pyramid contains the greatest biomass?  Explain why this must be true.

7) Which level in the trophic pyramid contains the least biomass?  Explain why this must be true.

8) Describe the niche of your primary consumer.

9) If a terrestrial ecosystem contains 500kg of plant material, how many kg of herbivore and carnivore production can be supported?

10) Which organisms are not represented in your food chain, but are actually present at every step of the chain?  Describe the niche that these organisms occupy.

11) To recycle nutrients, an ecosystem must contain at least what two types of organisms?

12) Would you classify your secondary consumer as an r-Strategist or a K-strategist?  Defend your answer.

13) Name a density-dependent factor that could affect the population of your primary consumers.

14) Name a density-independent factor that could affect the population of your primary consumers.
Using the website http://www.chesapeakebay.net investigate the process of bioaccumulation.
15) If a toxic chemical was introduced to your food chain, at which level of the trophic pyramid would the chemical reach its highest concentration? Explain how this happens.

16) Describe how the bald eagle and osprey populations were affected by the use of the pesticide, DDT in the 1950s-1970s.

